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Fill in the missing humbers.

100 less than 20,000 is |:|
I:I more than 20,000 is 20,600

251 of my
number is 24
&

What number is Teddy thinking of?

Lucy shades in part of a rectangle.

She shades some more squares.

% of the rectangle is now shaded.

How many more squares did Lucy
shade?
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| Fillin the missing humbers. 3 Lucy shades in part of a rectangle.

10 less than U6 is

She shades some more squares.

% of the rectangle is now shaded.

How many more squares did Lucy
shade?

How many sweets does Teddy have?





